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L eggere linee numerate non tradizionali Nome:
Trovail valoredi R. Risposte
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R
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Leggere linee numerate non tradizionali Nome: Soluzioni
Trovail valoredi R. Risposte
1)
45?0 | | | | 5?0 é | 690; 1 560
T 1 1 | | | 1 > .
R
5 950
2) 900 1.000 1.100
< I O | I > 3. 190
R
4 114
3) 100 160 220
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R
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R
8. 1.090
5) 7 7 7
< (I)O : : : : : ?O % 9. o505
R
10. 612
6) 100 110 120
At ;—|—|—>
7) 600 650 700
PHl| | ] ® ] | ] | ] | | | ] ] | | a
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8) 900 1.000 1.100
G+———t———t—+—t+——F++ —o—>
R
9) 500 510 520
«} @ | >
R
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|
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